2016 MIMO Middle —primary paper

e TR SUK (C) LICKHUNG R pF . .
)] ;s SEKOL.(\HB)ERPRESTASITINGGI SJK(C)LAIMENG E Mathematics Olympiad System

</ —

Malaysia International Mathematics Olympiad Competition
2016

Saturday 26™ of November, 2016
9.30 am —11.00 am

- Middle Primary Paper -

Jointly Organised by :

Persatuan Matematik Olimpiad Malaysia(PERMATO)
Sekolah Jenis Kebangsaan (Cina) Lai Meng Bukit Jalil, Kuala Lumpur
Sekolah Jenis Kebangsaan (Cina) Lick Hung Subang Jaya
E Mathematics Olympiad System

LRPG WA RM L FE =
R LEUNF
J14T B REHEERL
B BN IL 52 AR A L
)

Instructions:

e Do not turn to the first page until you are told to do so.

e Write down your name, your contestant number and your school's name on
the answer sheet.

e Write down all answers on the answer sheet. Only Arabic NUMERICAL
answers are needed.

e Answer all 25 problems. The total is 120 points. For problems involving
more than one answer, full credit will be given only if ALL answers are
correct, no partial credit will be given. There is no penalty for a wrong
answer.

e Diagrams shown may not be drawn to scale.

e No calculator or calculating device is allowed.

e Answer the problems with pencil, blue or black ball pen.

e All papers shall be collected at the end of this test.
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Section A (4 marks each)
A A (R4 77)

1. 180-8x5=57 x 3 +89, Fmdi\(—?

180-8x5=Y¢x3 +89, K

2. What is the number should logically replace the question mark?
A, AT A iﬁﬁéi&"

3. Which of the circles, A to E, should replace the question mark so that both lines — left and
right — follow the same rule ?
MBS L SAAREIE R R, W5 m B A~E FHm—?

rsapnest N—

4. The figure shows the total weight of the toys in the box. Find the total weight of the
Toys in box D.
TEOyEAEEMI AR S ER, KRET D BRIt EE?




2016 MIMO Middle —primary paper

5. The difference between two numbers is 256. The larger number is 9 times the
smaller number. What is the larger number ?
PIE 7204 2560 REUE/INE 9 1, RRHGEZ /D7

6. Bag A and Bag B originally has 54 and 63 balls respectively. If we want to make the
number of balls in Bag A become 2 times the number of balls in Bag B, how many balls
to be transferred from Bag B into Bag A?

A ST B AR T N JECR 73 A 54 A0 63 AMAHERI/NER, 25 Z4E A 227 A /N BRI AN 03
B %7 N /NER BB I 7, R4 LA B A% A HHE 22 D AN/ NERTBON A 4852

7. Aribbon is 180 cm long. Symbols are marked from one end in every 3 cm and every 5 cm.
Then this ribbon is cut at all these symbols. How many shorter ribbons can be obtained?

AR K 180cm, M\ UG RERR 3 em ML, B0 5 em B M5, RERITER
AiC TR BT . AR I BT 2 D B2

’ 5cm t 5cm >

[T ! L - N ... [T o N
b s . - - — — — _H_._H_ ——— — o s e —— ——— ————— —— —
<=3 cm—>kK—3cm—>l

8. Doctor Brown prescribes Mary ten pills, one to be taken immediately, and the rest taken
one at a time every 15 minutes after that. How long will it take for Mary to finish her pills?
A BAEAE A TOIN TR 25 0L, BUAELZISLBInG 1k, HARIZHAE 15 28z —ki.
TN 7 BEAE 2 A [a)z 58 24 FL?

9. Abdullah wishes to cut a cube with the size 3x3x3 into 27 small cubes, how many cuts he
has to make to achieve that?

B SR A — > 3XBX B KIETT OI IR 27 AS/NETT A, s 212/ T)?
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3,6 ,5
, : X (=—+—+—+—+
10. Compute 2016 ( 5 7 6 12 20
. 1 3,6 ,5 .7 9 11
: X (=—+—+—+—+—+—
5 2016 ( 5 7 6 12 20 30

11. 5 years ago the brother’s age was the same as the age of his sister 4 years later,
the sum of his age 2 years later and his sister 8 years later is 97.

12.

Section B ( 5 marks each )

B 4 (&

What is the age of the sister today?

AR 5 AT Aok 4 4R OGREANSE, TR 2 SR AR S Rk 8 IR R A O

%, ARRRKSFEZ D57

A lantern was formed by a combination of 4 light bulbs. Every 30 seconds, the color of
the light bulbs will change once. For the first time, the colors of the bulbs will switch
between the top and the bottom. For the second time, the bulbs will switch colors
between the left and the right, continue by the sequence of top and bottom, then left and
right, then again and again..... as shown in the figure below.

Following this sequence of color switch on the light bulbs, what will be the color of
the light bulbs marked “?”” in the rightmost figure below after 1 hour?

5 77)

white blue yellow | red red yellow
ye[low red ‘ white blue - blue white
First time Second time

W SATHROREAT, HAFE 30 AT B AR L — Ik, 28—k b R EHSE, 56 Rk, A

PIXT EA i, B =R B KT BRI,

WS B EHAIE I . EH, RAAKEAGTEARS “? 7 4, Bzt aBitrrer?

wmr A,

=Rk LA AN
Fr4a 1R F2R

, WRAREE R, JHT 1R

9
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13. If12=1x%x1,22=2x2,---,252=25%x 25 and 12+ 22 + .- + 252 = 5525 then
find the value of 32+ 62+ --- + 752,

FR12=1x1,22=2x2,---,252=25x 25, 12+ 2%+ ... + 252 = 5525,
R 32+6%+ - + 752 24K .

14. A4273B is a 6-digit number in which A and B are unknown digits. This number is
divisible by 72. Find A + B.

A4273B N— S8, AR B =S (B o oS BResk 72 Bk Sk A+ B.

15. An adult movie ticket costs $12.00. A child movie ticket costs $7.00. Mr. Wong paid
$319.00 in all for 37 movie tickets. How many child movie tickets did he buy?

BN R R 1$12.00, JLESES7.00. ESEAAI$319.00 —3L3L 1 37 5K, Mk 125K )L

=~z oh
|

16. How many 3-digit prime numbers such that the sum of digits is 5?
Hr AN 5 =R 8 i s ol 2 /047

17. Mr. Addullah wants to colour every edge of a cube either yellow or blue. In order to
have at least one yellow edge on every face of the cube, find the minimum number of
edges that must be coloured yellow ?

IECILE a1 <R T SRV N < (A 7 Sl = W G A R P VAT NS R S S MTTIE U R S R
WIRBGE . B AR L, 20H2/0%?

18. As shown in the figure, find the sum of the diameters of the infinitely many circles
drawn inside this triangle such that they do not overlap?

WE PR, =MARANA LR, SRR ANEES, KRR EAZR

MANEZ /D ?

k<&~ 20cm —>|

(9] |
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19. Old Mr. White left half his money to his granddaughter, and half that amount to his
grandson. He left a sixth of his money to his brother,and remainder $1000 to the dogs’
home. How much did he leave altogether ?

EIRE A RAR IR SN2, g AN T IR AN LI 2o il SR 2R K 7N 2
B TR G, BRJRF N $1000 B4 B K . M AMFRSEAE ORI 2 DY

20. As shown in the figure, the square ABCD has a side length of 4 cm, and each side is
divided into four equal parts. Find the sum of the perimeters of all the squares in the
graph.
nEIETT I ABCD HIILK N dem, FEA4DUE 7). SR BT 1R 07 - JE K B .

A B

Section C ( 6 marks each )
C 4 (1% 6 /1)

21. As shown below, Jim has made a square frame by 8 identical rectangular blocks. The
perimeter of the large square frame is 320cm, and the area of the inner square is
1024 cm?. Find the length of the rectangular block.

R, HAH 8 MHFEMK T AN N RIIET . KIETTERI K 320 cm, 1 [E] (1)
NIETTTRIHRY 1024 cm2 , KK TTTRTK.

} Length

22. Petaling Street in Kuala Lumpur, Malaysia, is a famous tourists’ sightseeing and shopping place. If the
first building from one side is numbered as 1, following the number sequence in ascending order till the
end of the street, then continue the number labeling of the buildings to the next building opposite across
the street. Continues the number labeling back to the end of the street on opposite’s buildings. Assume
that each building’s location is exactly the opposite of the other building across the street. If building
no.121 is located exactly opposite the building no. 294, how many buildings in total that Petaling
Street has?
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23.

24,

25.

USRI 5 BT 4 IR, R TR b, 5 1 — R KM 1 TP ot
WUFRS, EEMR, ARJE NI R B FRE FA AR S, U958 1 K AT 4

EEHRE AT R EAS AR . T4, %05 121 MK JE{E4 5 204 MORIEATTH, XA
WA O HRIE

How many ways to choose 4 letters in the following phrase to get the word MIMO?
(The order of the letters will not be changed)

MALAYSIA INTERNATIONAL MATHEMATICAL OLYMPIAD

M RPN SRR L 4 DNFREE R MIMO, — 3 2Rk (RE AR B EA HIRE)
MALAYSIA INTERNATIONAL MATHEMATICAL OLYMPIAD

A natural number is going to add, subtract and divide itself to get the sum, the difference
and the quotient respectively. The sum of these 3 resulting numbers is 2017. What is

this natural number?
—NERE G EARGHIN. AL AR, 2 REA, S5 2017, A SRR EREE

20N

Ali and May are running around an oval shaped track of 1200 m long. Ali’s
speed is 3m per second and May’s speed is 4m per second. If they start from
the same spot on the track but running opposite directions, then how far have
they run when they meet in the starting point for the second time?

Bi FLURT /MM A K 1200 DK AR IE P BB B2 o B LR BE R AR 3K, /N

HE R RFD 4 K. AT R R R AT, SRS ZE R AE JEOR 1 H R S AR B,
— LM L ?

Y |
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